Y5 Block 2 Assessment Section A

Answers and Suggested Mark
Scheme
www. 1 1plusguide.com
: N. C. Total
ion An Mark
Queg: 0 Level SWwer B Marks
8 5 d) 3 All correct — 2 marks
1 4A | b) 4 e 2 2
0 4 3or 4 correct — 1 mark
Q) 7&3 d) Any 2 numbers
added to make 16 | All correct — 2 marks
2 4A b) 5&5 2
0 9&7 €) Any 2 numbers 3 or 4 correct — 1 mark
added to make 36
a) 120 d) 170
3 3A b) 260 e 270 All correct — 2 mark 5
3 or 4 correct — 1 mark
c) 360
4 4C 10, 12, 19, 110, 229 All correct —2 marks 2
3or 4 correct - 1 mark
5 4B £4. £5 £13. £1, £29 All correct — 2 marks 2
3 or 4 correct — 1 mark
86 43 3 All correct — 3 marks
6 4B 0.75, 0'019’2 y /l(gr% ’ /?)Or' 2%)25’ 12", 4 or 5 correct — 2 marks 3
100 %0 2 3 correct — 1 mark
7 4B -8,-6,-2,5,7 1 mark 1
8 4A -3°C 1 mark 1
Any line of reflective symmetry.
9 B Equilateral Triangle—3 axis All correct — 2 marks 2
Rectangle — 2 axis 4 or 5 correct — 1 mark
Pentagon — 5 axis
10a AC 18cm, 162cm, 860cm, 205cm, 20cm | A correct — 2 marks 2
3or 4 correct — 1 mark
10b 4C 1600m 1 mark 1
10c AA 16km, 20 miles, 80km, 35 miles All correct —2 marks 2
2 or 3 correct — 1 mark
1 mark if
la 3A 43mm (42-44mm) incl. 1
11b 3A Accurate line 1 mark 1
12a AC 24cm, 18cm, 46cm All correct —2 marks 2
2 correct — 1 mark
12b 4C 4.5cm 1 mark 1




a 11 d) 74
13 4B |b) 12 e 25 o ootk 2
Q) 13,16

All correct — 2 marks
14a,b,c 4B a No b)Yes c)No 2 correct — 1 mark 2
14d 48 3500 1 mark 1
14e 4B 90 or 110 1 mark 1

All correct — 2 marks
15 4A a) 14 b) 25.8 €) 39 2 correct — 1 mark 2
Total

35




Y5 Block 2 Assessment Section B

Answers and Suggested Mark Scheme

: N. C. Total
uestion Answer Marks
Q Level Marks
1 4C @) 50mm b) 10mm  c) bar to 10mm All correct —2 marks 2
2 correct — 1 mark
Each correct answer - 2
2ab,c 5C a) £8.97 Db)£6.25 ) £3.75 marks 6
Correct method — 1 mark
All correct — 2 marks
3 4B a) £9.45 b) £5.90 c)4 2 correct — 1 mark 2
All correct — 2 marks
4 4C a) 10pm b) 9hours c) Saturday > correct - 1 mark 2
5 AA a) £1.50 b)£1.00 ) £6.00 All correct —2 marks 2
2 correct — 1 mark
All correct — 3 marks
6 4A a) 154 dollars b) 121 dollars c¢) £30 | 2 correct —2 mark 3
1 correct — 1 mark
a) 3865 f) 33294
b) 160.5 g) 1335.6 All correct — 5 marks
7 4A c) 23.18 h) 98 6 — 9 correct — 2 marks 5
d) 765.7 i) 8 3 -5 correct — 1 mark
e) 14.33 j) 7938
8 4A 13,157, 8, 22, 14, 55 All correct —2 marks 2
4 or 5 correct — 1 mark
9a 4A 29, 8,12, 39 All correct — 2 marks 2
All correct — 4 marks
9b 4A 12, 16, 19, 16, 18, 22, 22, 13,29,29 | 7 -9 correct —3 marks 4
5 or 6 correct — 1 mark
Total

30




Y5 Block 2 Assessments SectionsA & B

Guideto Levels
B3 | 3C 3B 30 | 4C 4B AN
13 [14-21 2228 29-35| 36-46 47 —-57 58 - 65

Total Marks A + B = 65
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